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1. Split the function P+ D0 +4) into partial fractions.
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3. Consider an integral / x dx. = \
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Identify each approximation as overestimate or an underestimate.

approximation | over | under | x’is | increasing decreasing | concave up | concave down
LEFT(12) v/ | why? V4
RIGHT(3) v why? v
TRAPGS) | why? V4
MID(7) v | why? Y

Calculate the following approximation to the integral.
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4. Integrate the function with respect to x.
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5. Calculate the integral / 3 1,if it converges.
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6. Decide if the improper integral converges or diverges.
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7. A solid is obtained by rotating a region, that is bounded by x = 2, y = 3 — x and the x-axis,
around the y-axis. Find its volume. 1 \g
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